Esercizi su: Equazioni di primo grado.

1. Risolvi le seguenti equazioni.
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2. Risolvi le seguenti equazioni.

(a)
(b)
(c)
(d)
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-8x-8=x-8
—-6x+2=6x+2
-9x+8=-11x-12
7x—8=-5x

9x—-1=-x+8

5x+1=12x-3
9x—-11=11x
9x—-1=-x-3
—12x=3x+7

2x+1=6x-10
10x-5=4x+10
8x+8=10x-7
-9x+8=9x+1
-9x+2=-9x-1
-10x+5=x-11
2x+12=-x+10
—7x+9=-7x-12
-10x-9=9x-11
-9x+12=-6x+5
4x—-10=-8x+7
-10x-3=11x-12
12x+8=-3x+1
—-6x+3=10x+8
-10x+8=-3x-9
-3x+6=-9x-4
—-2x-12=9x+4
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e F=11x
—2x-1=%-2
Li1=-x+1
Bx_l-_2x+2
fr1-1+1
M pZox+1
rri=-%4d
fr12=-%+4
s+a--F-4

[0]
[0]

[-10]

2]

[5]

2]

-3

_%]

[~ 15]

[

2]

[32]

[5]
leq.imposs.]
[18]

11

-3
leg.imposs.]
(]

[£]

[12]

3]

[-£]

[~ 15]

[+]

2]

3
28]

[—22]
(2]

[—2]
[-2]
(]
[12]
[2]
(53]
[-139]

[-2]



k)
M

(m)

(n) -

(0)
(p)
(@

(r) -

(s)
(1)
)
v)
(w)
x)
)
(2)

7x _ _2x _ 9
8 15
3x . 2 _ _ e
01T = 90X+ 3
_b6x _ _llx 5
5 —6=-73"—3
10x Sx _ 7
7 t2=% 53
_ 12 _ _6x_7
X+7="11"3
7_ _4x 1
3x s=—3 +5
1_ _lx_5
Xt3==% 73
8 7x . 9
llx—g——?'i'm
Tx 4 _10x,2
: ~4=-71 t5
x_ 1 _x, 6
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1273717
7x 7 _ _x_1
s t12=7373
5x 2 _ 7x 4
9tg= 32 *5
8x 6 _ _5x_ 1
5 51273
5x, 11 _7x . 5
3 t9 =% T2
4x 3 _3x_ 8
9 T2~ 11

3. Risolvi le seguenti equazioni.
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16x%+2x+3=-3x+(4x-2)%-1
-1=-9x*>-x+(-3x-5)%-4
(x—2)2+4=x+(x-5)(x-2)-2
—4x+(x-3)(x—2)+3=—4x+(x-2)2-1
2x+(=x+1)2+3=-5x+(-x—-1)(-x+1)+5
(—2x+1)>-5=4x+4(x+1) (x+5)
—2x+(x+2)2-3=5x+(x—3)(x+3)—4
-3x+9(x-5)(x—4)—(3x—5)?-1=-5x
4x+(—-3x—4) (-3x+4)— (-3x-2)>—4=-5x+3
x-3)(x+4)=x+(—x-1D(—x+1)+2
3x+2=-x—(-2x-1)2?+4(x-2)(x—-1)+1
3x+5=-x+16(x-3)(x+5) - (4x—3)>-5
—3x+25(x—1)(x+3)+3=-3x+(5x-1)2-3
4x+(-x—2)(—x+2)+2=5x+(-x-5)>+2
5x+(3x-3)(3x+3)-(3x+4)?+1=-3x-3
—2x+(=3x—2)>=5x+(-3x—4) (-3x+4) +3
—X+(=5x—5) (=5x+5) +3=5x+ (=5x+3)> -2
—4x+4=-3x-(-3x-5)%+9(x-5)(x+1)-5
4x+5=5x+(—4x—3)>— (-4x—1)(—4x+ 1) +1
—4x+ (=5x—3) (-5x+3) — (~=5x+4)®+2=5x+5
2x+9(x+1)(x+3)=—-x+Bx-5)(3x+5)-2
—3x+4(x-5(x-4)-2x-1)2x+1)+3=x+2
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(W) (=3x—4)(-3x+4)+5=-3x+9(x—4) (x+2)+1 -2

(X) —x—4=—4x+(-2x—4) (-2x+4) —4(x—5) (x +5) (8]

y) 4x+(2x-1)(2x+1)+2=-3x+4(x—-4)(x+1)+3 [—H]

y 11

(z) 3x+(—4x-3)(-4x+3)-16(x+1) (x+3)—1=—-5x+2 -1

4. Risolvi le seguenti equazioni.

(@ 2x-3=-3-2 [0]

(b) —%+3=3x+3 [—32]

© —x*+(x-5)(x+5+3=-3*-2 (2]
4(x-3)(x-1

(d) 5=- —-5x+ (x Zzg.’(x ) [ %]
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(@ -2 - e3=3 [109]

0 F+x-5(x-2)-1=-x+(-x-5)?2-4 [-299)

(g) 16x(x—3)+5x—(4x—3)(4x+3)-3=-2+1 (-]

() =44 (r=3) (x4 3) - (x+3) +2 (551
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(i) x+(—%+§)2+2:2x+W—% (24

. 2 25(x-2)(x-1

O 2x+} =4+ (-5 -2)" - 2l g 175!

) -3 41=(-2x-24)(-2x+24)—4(x+2)’+1 19

M) 34 (—2x-2)(-2x+2)+1=x+(-2x0+1)7+14 (2
2 (x- 4)[x——)

(m) %Tx_%l:(%_é) 16 +% [%]

M) -3 +16(x—1) (x+2)+5 =3+ (—4x-3) (-4x+3) -3 159
2 _ 9(x—3)(x-3)

© F+(-%-3) Taam (3525)

() —2x+(—2x+3)° —4 =3 4y 4(x-5)(x+3)-3 8%,

9(x—2)(x-23
(Q) 4x—3=x+(-% %)2 x 21)6( 4)—% [-253]
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W) 2x=(5-3)(F+3)+ e +3=a+] -1
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5. Risolvi le seguenti equazioni.
@ -F=-%+3 58]
(b) 10x+11=x+2 [—1]
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2x+ (Bx+ 1)2—1:x+25(x—5) (x+1)-4
x+4=—-4x+3

—x+(-4x-3)(-4x+3)-16(x-3) (x+3) -3 =x+3

x+1=-10x+10
11

2x-5 =X
-12x-12=-10x+7

2
2x+(¥-2) (& +2)-4=—-x+(&-3) -3

-12x-11=9x-3

S5x—2=-3x+7
5x+(x-2)(x+2)+3=—x+(x-2)(x+1)+4
—4x+(—4x-5)(—-4x+5)—-2=5x+16(x—-3)(x—1)+5

6x+9=-3x+1
9(x—-5)(x—2)-4=5x+Bx-52%-1
~Hr(x-3) (x+3) - (x+1)?-2=2

—doax+ (-1 (B+1)-1

4 2
3x-2=5x-7

2
SR = G- D D3
Sx 4 10 _ _ 8
2 T3 = X7
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